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Module Name : Tourism Administration and M.
Exam Date : 08-Mar-2025 Batch : 14:00-17:00

Sr. . - .
No Tourism Administration and Management

PAPER II

Which of the following zones of attraction are identified by Gunn (1972) :
1. Nucleus

2. Transit Region

3. Inviolate Belt

4. Zone of closure

G607 (1972) eT6dTLIEUTT6V LN60TeUBLD 6TTHG FFITLIL| LOGDOT L 6UMhIGHET {60 L UITETLD &TeuorILIL L 17
1. 6LOWI LOEDOTL VLD

2. GUMHG TS S! LDGDOTL6VLD

3. @60TeUWeVL. GILI6LL.

4 epL Ul L UGS

A: (1)and(2)only

(1) LOYID (2) LB
B: (4)only

(4) GO
C: (1),(3) and (4) only

(1), (3) LOYILD (4) L EILD
D: (1)and (4) only

(1) ODID (4) L GID
Given below are two statements:
Statement (I): Organizations like WB, IMF, ADB. OECD provide much needed low-interest loans and financial grants to the tourism industry, more particularly
in the developing countries.

Statement (I1): There are no organizations that provide financial grants to the development of tourism industry.
In the light of above statements, choose the most appropriate answer from the options given below:

FECLD @ T6oT(H UM WLIMIGHET Q& TH & LILIL (H6TereoT :

QMGG WD (I) : WB, IMF, ADB, OECD GLIM6ETM S{6mLOLIL|G6T aem@BLD BTH &6rflei SHmIeuT SIenme &, GenmbS eIl 198 @& &L 6T
DMHMILD LIOTD SISEEG &HMIGVT SlenMEEG 26T &RMTIHET aueTIHS Q& Teor(h @HBEHERM HTH &S.

QUTEGSWLD (II) : 6THS 62(1H BlMIEUET(LOLD &MHMIEVT UETTFR GG BIH Q& TH LIS 6V6m6V.

@emenmll QUTBSS Fiflwmer allemn_enwl G556 Q&FWIWIaLD.

A': Both statement (I) and statement (II) are correct
QTGS WD I MM eumsSH WD 11 G esorG b &ifl
B : Both statement (I) and statement (II) are incorrect
QUMSS WD I IDMHMILD eumSSHWLD 11 @ Feoor(GID el
C: Statement (I) is correct but statement (II) is incorrect
QmE&ESH WD I &ifl 9L6TmeL aImGSH WD 11 Heumi
D: Statement (I) is incorrect but statement (II) is correct

QTSGR WD | Hauml SLETM6 aIMGSH WD 1T &ifl

Choose the correct matches among the following

Geographical zones Significance for
Tourism
(1) Trade wind type - Beach fourism
(2) Hof dry type - Sun fourism
(3) Mediterranean type - Snow based activities
(4) Equatorial type - River base expenditure

Wetteu(meuesteummley GlummabsLomeT @lenesmeniid GCarey GlFuiweayLb.

yeiluilweu SHMMI6VITaTl65T (Lp & &5 1L 5 &) 6ULD
LD 6TBTL 6V IEI G 61T

[ sustofle®s srmmIL UGS &LMSENT SMHM|suT

[2) 2 eur GleuliLl LostsTLEY (&l spatfl &mHmyeur
ugsl . - S

(3) WHHULSHMTE HLV uenfl #riThss HLEUgEenSSET
BlGEY

4] uywsHu Grens LGS &LV FNMHS [HevoTL &DMIeVT




A: 1,2,4 and 4 are correct
1,2, 4 &ifl

B: 1and 3 are correct
1 oo 3 &l

C: Only 3 is correct
3 L@ &

D: 2 and 4 are correct

2 ommID 4 &Fifl

Given below are two statements:

Statement (I): There are three categories of memberships of the UNWTO. i.e. Full members, Associated members, Affiliated members .
Statement (I1): Full members are all the sovereign states in UNWTO.

In the light of above statements, choose the most appropriate answer from the options given below:

GO QHTH&&LILLH6TaTen el @) T6uor(h 61IT8 G WIS ET.

aUTEG&WLD (I) : UNWTO emloLiLN6v epetTmi eflgLomest 2 mili e J euemnas 2_6iTament. (0w 2 mililery, SIGFmHIGuIL
2 miliSeory, FMihs 2 mililery

aTGESRWLD (1) : &HSBH T BTHISHET I EMETHSID E)H60T (LW 2 MILILN 66T,

GG Q&ETH&&LILILG6TET eums:&H W kisefley HC QaMhIHsIULL Fflwmer ellenl G5 e Q& WiweyLD.

A': Both statement (I) and statement (II) are correct
QUMSS WD I oMM eumsS Wi 11 G evorG b &ifl
B : Both statement (I) and statement (II) are incorrect
QUMSS WD I IDMHMILD eumSSHWLD 11 @) FeooT(GID S6umI
C: Statement (I) is correct but statement (II) is incorrect
Qm&ESH WD I &ifl 9L6TmeL aImGSH WD 11 Heumi
D: Statement (I) is incorrect but statement (II) is correct
QTSGR WLD | Heuml SLETM6 aIMGSH WD 11 &ifl

Assertion (A): Industrialisation and urbanisation have created great pressure in modern living.
Reason (R): Increased pressure has made it necessary to engage in leisure activity

Famml (A) : Hefer aump&Eam&uiley, Q& T60 LDWINTSSHID, FSTIOWLNMTSSID QLB (DS HE5MS 2 (FHeUTEHS W 6TerTeoT.
SMTIenurld (R) : AP &S5 (WSS @i HLAI &ma&S&6Te0 FHLBEIMS SeuGNNTER WIS
A: (A)is true but (R) is false.
(A) eTetTLIGI F1f] 9L60TTeV (R) 6T60TLIGI S6UMI
B: Both (A) and (R) are correct and (R) is the correct explanation of (A).
(A) LDHMILD (R) @Teoor(BID &Fifl LnmmIth (R) eTedTLI! (A) & Fiflwimet aflemg&Ln
C: (A)is false but (R) is true
(A) 6T6TLISI Saumi (R) eTedrLIg &if]
D: Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A) LDHMILD (R) @Tetor®LD &ifl, 2L,eTmel (R) eTedTLIS! (A) i@ Fiflwimenr aflemd &L @)evemev.

Statement (I): Tourism leakages are defined as the loss of foreign exchange and other hidden costs derived from tourism related activities.
Statement (II): To exchange information on tourism development projects and marketing techniques.

MGG 1 : GHHMIT HF6) 6T60TLIGI U BHBIW Q&FeveuTennt] @LoLIL] WMHMID &MHMIEVT QGITLITLITET HL6IL.&Hn&H 660 @) hhS!

QUMOLILGILD LM MG QF6V6 56T
M &S 11— &HMHMIEVIT UaTIFF S L AIG6T nMHMID FHens HiL LIKST LUhnlw Sselcvgsemer Uflinmmile Q& merer

A: Both statements (I) and (1) are correct

MG 1 oMb I @uevorith &ifl
B : Both statements (I) and (II) are incorrect

MG s I LoHMILD 1T @ Tevor(hILD Geumi
C: Statement (I) is correct but statement (II) is incorrect

NG & | &ifl 9LeTme SiMl&emna 11 Heumi
D: Statement (I) is incorrect but statement (II) is correct

MGG 1 Heuml L6016V i Ml&end 11 Fifl

is the global trade organisation of air transport & it represents, leads and serves the airlines industry.

2 05 M Slemmenl, BITaUR&HEH M SemOLIL] 6Tl ?

A: ICAO
ICAO

B: PATA
PATA

C: IATA

IATA




D: FHRAI
FHRAI

Which of the following express train is the first Elite Class train in India ?

LY edreumeusoreu mmMlev 6181 @ HS WTell6dr (LnG6ev Gemevl. au@GLiL] @ Tuiev

A: Orient express
eflwedTL etgenuLilyerv
B: Rajdhani express
@rmssmefl ergeuLilyev
C: Deccan Odyssey
QL& 560 6plq6ndl
D: Tejas
Cap e
Choose the correct expansion of NACIL
NACIL -657 &iflwimer effleunsssamnss CHIHASMH.

A': National Air India Company of India Limited
GHaqeTel ¢ @HHWIT SE LT Qpall @BHWIm QL
B: National Airways corporation of India Limited
GB6Q.6Tel g Geuay &MTLILGTaY6iTaLsLl @BEH WM NG
C: National Aviation Company of India Limited
GBeaq e gallGuaq e &G aLall @BHWT QL L
D : National Airlines cooperation of India Limited
GIHE 60T6V 6 T60I6V6ITEN C&HMAUTLILIGTO 6T &Ll @BEHWIT 6@ L
Choose the correct outcome of International year of Ecotourism (2002)

FHMIEF G FHMIVT FFUCSHF 260019 60T (2002) ellemememnal CHIHOSHH &5,

A: Establishing Special Carrying Capacity
&FLH S QFevauld FMLIL| Hmemeor Blmie]Hev
B: Celebrate world wide
2 USLD (NWDEUSILD Q& Tevor L IT(H kI & 6iT
C: Politically valuable concept
TH W HLILIES &BHSS
D: Move towards mass tourism
QUBHH T6T &mmicuTenel GbTe: G 58 (h kI g 6T
Which of the following aircrafts is marketed as a "green giant" and one of the most environmentally advanced aircraft ?
EC QEHETO&SELILL G 6T 6Thg alllnmer nm&f] "G ifler Qegulesorl. " eTedTmi FHen UL UL L &I lnmmild @& W&e|Dh
FHMIFEP6L GIDLL L eflnmermhigerfley epetrmi
A Boeing B 320
GuImuam L9 320

B: A382
& 382
C: A380
& 380

D: B777-300ER
L9 777 - 300 @217

Choose the correct statements from the following:

(a) Travel between area 1 and 2 via Atlantic Ocean is represented by GI : AT

(b) British Airways flight from Mumbai to Los Angeles via London would be represented by GI : AT

(c) Travel between area 1 and 2 via Pacific Ocean is represented by GI : AT

(d) Travel between area 1 and 2 is represented by GI : AT

(e) Travel between area 2 and 3 is represented by GI : AT

ereu@Ld sammiserfley Fflwmerenss CH&IHASM :

(a) : SIL6VIMEHOTI.& QLIBMAISLEL eULdlWITes 1 LoMMILD 2 LGS &E ©)60 L GUIWITET LIWeoTLd GI : ATeTedTml G L LILGS mSI.
(b). (WPLe LN ([HIH S 6V6T0TL 60T QULSIUIME 6VITEN JEh&F6v6eN QFLaID LIFL 1969 gFGalev elinmeoTLd GI : ATeT6oTmI
GM&&SLIUEILD

(¢) UG QUEBMRISLE el WTg LGS 1 MHmID 2 @enL Gl LIW6uTLD GI : AT 6TedTml GMl&H&LILGSH mSI

d) UGS 1 LnMHMILD 2 @60 GUIWITEIT LILLIGTLOMeTS! Gl : AT eTedT)l GMI&BSLILG SR mSI

(e) UGS 2 DMHMILD 3 @)6m L GUILLITEDT LIWI6ToTLDTeoT&l Gl : AT 6TedrmI GMI&SLILIGRMES!.

A (a)and (b) only




(a) LOXILD (b) LOLBHILD
B: (c)and (d) only

(©) LHOID (d) LLEID
C: (b)and (d) only

(b) LDMHMILD (d) DL (HILD
D: (d)and (e) only

(d) LbOHMILD (e) OL(HILD

Given below are two statements:

Statement I: The meridian marks the change of day is International Date line

Statement II: It can be crossed while making calculations of Time

In the light of the above statements, choose the most appropriate answer from the options given below :

Famm (1) : Qifligwesr Brefler LTHMSMSHEH GMSERME FFaCHF C5H & CHM(H
Famml (1) :CHIS MBS HeooTdH (B CLITS eNE5E &L &6 (DIQU|LD
GG Q&EMTH&E&LILLB6TET gammigsefley Fiflwmer aflemLenwisd HCW Q&THHELILIL (H6TeTH 6 @ hhHe CHIHOSMH.

A': Both Statement I and II are correct
Famml [ L0MHMID I @Tevor(Ib &ifl

B : Both Statement I and II are incorrect
GO mi [ LoHOILD 1T @ FesorBLD Heumi

C: Statement I is correct but Statement II is incorrect
Famml 1 Fifl SLe0TTeL oMM 11 Heum

D : Statement I is incorrect but Statement II is correct
Fa MM 1 H6Um LE0TT6L FnMmi 11 &if)

Given below are two statements one labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A): The local time in Italy is GMT+2 on 15th June

Reason(R): Day light saving time in Italy is from 31st March to 26th October

In the light of the above statements, choose the most appropriate answer from the options given below

@ T6T(H FnMMIGET QSHBTHE&SHLILIL(HETETET. SnMmi (A) : @55 TeSUN6T 2_6TeaBT GHILD GMT+2 8O0 15 3{60TmI
SMTIeoorLd (R) : @55 melufNeb LsCHT CFILIL GBI LOMTEF 31 (NS ASCLTUIT 26 aUen[.

GG Q&ETH &&LILL B 6T gammisefledBhsl W&eabh QUMhSSLmer allenLenl BCLD Q&TH &E&LILL(H6T6rT
aflemL_s6fledBhHg CHTHASM.

A: Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) LDHMID (R) Fflwmestemal nMmILD (A) el & (R) Fiflwimer eflemg s
B: Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) oI (R) FFlwimerenel 26T me (A) ellH& (R) Fflwimer ellend &b 36060
C: (A)is correct but (R) is not correct
(&) &l Spermed (R) Heum)
D: (A) is not correct but (R) is correct
(A) o 246TITeD (R) &1fl
The international date line is an imaginary north-south line through the Pacific ocean, east and west of which the date differs

FIaIGsTF C5H & CHMM aTerTLIg LFLN6 QU@BEISGL 06T HpdHEG LnMmmID CLME& auLSWIME 62(H &M LIGNE0TULITET 6L & G-
A3HEG CHMH WG, S G5 CaumLTEHDS.

A east being one day earlier
BIGHES R BITET (PETETSH TS
B: ecast being one day delay
FNEG R BT HTOGLD
C: west being one day earlier
GLMG @B BITET (LDEITEUTSH T
D : Remains unchanged
LOMTMITLO6L 2_6Tegl
A Flight departs from Mumbai at 0100 Hrs (GMT 5.30) on May 7th and arrives London at 0700 Hrs (GMT+1) on May 7th. The elapsed Flying time is
@@ llnmerid (e Luled®H & G 7-1b G5 S &Temev 01 00 D618 & (GMT+ 5.30) LImLILIL (R 07 00 LD6wol185E 6V600TL_65)60T

QAUBSMLE MG HLHSH CGLITET LIM& LD GBITLD 6TedTeor ?
A: 1 Hr 30 minutes

1 oeoofl 30 WISl L_BigeT
B: 8Hrs

8 Lo6oof]
C: 10 Hrs 30 minutes

10 oevof] 30 BILOIL i g6l




20

21

D:

6 Hrs
6 LD 6uof

A series of imaginary lines circling the globe in an east/west direction is

FP&HG WHMID CLMHG HanaFulley LEEHTaTGmS &Ml @ (H&HGLD &MHLIMETH CohITH & 6T

A:

Longitude

BIHs5 Crens

Prime meridian

SH W Crend
International Date line
FIaIGsTF C5H&HCHT(H
Latitude

IILFCIens

‘Which one of the following statements is correct about IATA region ?

IATA WpmhE&wsSens L1 LUhnlw oinflsansserfle ergl siflwmerg 2

A Asiais included in TC2 but Iran is included in TC3

SLEWIT TC 2-60 GFTEHG&LILIL(H 6T L60TM6L FFIMeT TC 3-60 CFI&H&LILIL (H6TemSI
B: Asiais included in TC3 but Iran is included in TC2

LG TC 3-60 CFTGHSBLILIL(HETETSI OL60TIT6V [FITT60T TC 2-60 GFF&H & LILIL (B 6Tema!
C: Asiais included in TC3 but Iran is included in TC1

LEUWIT TC 3-60 BFT&HSLILIL (HETENSI Q,60TIT6V FITT6T TC 1-60 CFF&H & LILIL (D) 6iTems!
D: Both Asia and Iran are included in TC3

SLFWIT LOMMILD FIT6T TC 3-60 CFF&:&LILIL (b 6Tameor
The full form of DST is :

DST —601 eflfleumg &1

A:

Declared sequence Time

19 &560T (0 E&HaU6TeN LD
Daylight Saving Time
GLemevL. GFailMmI 6oL LD
Distilled Saving Time

196101960 GFeilmI emL_LD
Differential Saving Time

W sQueTadluicy GFalm enL b

Where was the man and Biosphere programme initiated by the UNESCO ?
WQeTeru @& meumey (UNESCO) neoflg et nmmith 2 ullij&Gas mermib(Biosphere) S L LD 6TBICH QGTLMEISGLILILL G ?

A:

Paris
umriflelv
Java
Qmeu T
Delhi
QLeved
Iran

FF [T IT60T

India's only coral Islands located in

@BGHwmeller CF LieueTs $e6 & 6T

A:

LGS UN6L et Lnb Sl 6Termeot.

Pondhicherry
Limevor 9.5 C& ]
Lakshadweep
@eLFS Ha e
Karnataka
SUBITLGT
Jammu & Kashmir

SO N-&Teq LS

GTEOTMI BJ6mLOLILIT.
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Assertion(A):When there exists a hormony between tourism and the environment it affects positively each other
Reason(R):One of the Major tourism related benefits which a country or region acquires is the Conservation of its natural and manmade environment.

FaMmI (A) : HHNIEVTESGLD &MHMIEFGLLMI&GLD @6 Uiley HeveS6tTE: S @)(H5EGLDCLIMS! e60Ten M LOM G MT6dTMI
GHILMWITS LTHERMS
SITI6ooTlD (R) : 2@ BTG () LIFTHS WD QLB &HMIeT QSTLFLTeT LA&LIQLIFIW HeTenlngerley speiTmi 21560 @) UMD
DMHMID 1060l G60TITEL 2 (HEUMEGLILIL L @Lem6eull LUMSISTLILSTGLD.
A: (A)is true,(R) is false
*) &l; (R) Seugy
B: (A)is false,(R) is true
() saug; (R) &if
C: Both (A) & (R) are true, and (R) is the correct explanation of (A)
(A) LDHMILD (R) @TeoorGIGLD &1l ; nmmild (A) D& (R) Fiflwiment ellemgs &L
D: Both (A) & (R) are true, but (R) is not the correct explanation of (A)
(A) LHMILD (R) @Teior(GGL0 &Fifl ; ayermev (A) elM& (R) Flwimer aflemdasLd oi6v6y

Match the following

(n Juhu beach (a) Gujarat

(2) Ahmedpur Mandavi (b) Goa

(3) Dona Paula (c) Lakshadweep
(4) Minicoy (d) Maharashtra

LstTeu (MeuesTeUMsmMLI GlLIM(hE S5,

(1) eZOamr sLbhaemy () GRS

(2) SHSWHLT wredsrLe] (b) Gesmeur

(3) GLmeurm ueeurm (c) 5\)|'_5§,£614_

(4) Wlesflammi (d) LQDTTTERQyT

Az (D-@), (2-(0), 3)-(), (4-(c)
(D-(a), (2)-(b), 3)-(d), (4)-(c)
B (1)-(c), @)~(d), 3)-(b), (4)-(a)
(1)-(c), (2)-(d), 3)-(b), (4)-(a)
C: (D@, (2)-(), 3)-(b), (4)-(c)
(D-(@), 2)-@@), 3)-(b), (4)-(c)
D (D-(b), (2)-(c), 3)-(d), (D-(a)
(1)-(b), (2)-(c). 3)-(d), (4)-(a)
Which of the following is referred as the Queen of beaches and happens to be one of the most popular beaches in India?

NeTau@pld &L MM TE6TIe 618l "L MH&EET @) TTero" eTedTml enpsHELILGHMS WwhHmiD 915 @bHWwmeile e
LN T LI6VLDITET &L MH&HENTWITES 2_6Teng).
A Anjuna Beach, Goa
S TIe60TIT HLMEHEMIT, G MTeUT
B : Dona Paula Beach , Goa
GLITEOTIT LIG6VIT &L D60 T
C: Calangute Beach, Goa
STTGWIL &L H&HenT
D: Colva Beach, Goa

Q&HTLEUT &L MG

Which of the following location is famous in Buddhist Tourism as the place where Buddha preached his first sermon ?
ereu@mid LGS &6rflev, QueTss smmieumalle Wge b LATLeuLnmeT LGS, 2miCsH LSSH60r (nG6ev FLOW 2 60 BLHSHSI?

A: Rajgir
abREASDbY

B: Saranath
FIIBTS

C: Sanchi
FIEHe

D: Kushinagar
&afl B&ILD

Valley of Flowers was found by .
LL& 6T 60T LIGTeNTS &8 & GTEOTU T TGV 21,650T(H) &HevoT(HILNGHSHLILL L &I
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A Frank Smith in 1921
ommig evldlg, 1921
B: Frank Smythe in 1931
Nymmig eveming, 1931
C: Frank Roche in 1941
Nomhig Gmg, 1941
D: Frank Norman in 1951
Mg BmyweT, 1951
Which is NOT a Buddhist culture based attraction in Odisa ?
6THS LIGH @lq6n0melley QLTSS SGeuMESFTT 91 LiLenLuileumer FiliL (UGSH) 31606y ?

A Lalitgiri
el GH&
B: Ratnagiri
@usHer &
C: Udayagiri
2 swHH
D: Devagiri
CxaR
Adichanallur, the evidence for human civilization existence dating back to several thousand years is situated in District of Tamil Nadu.

2HEFHLNT, L6 uilTih Sb600T(H&HEDS G PHOSW &TLSSH 6 6TS HIsK18I0D QUHSSHE & mermi, SALDBTL g 65T
LML LS5 60 enLnbHSI6Tengl.
A Thirchirapalli
FHFRTTLLETE
B: Thirunelveli
FHEBLGCIE
C: Pudhukotai
L&I&5CHTLemL
D : Ramanathapuram

@UTBISLTD

Which beach is referred as the "Freak Capital of the World" ?
6THS HLMHEBENTENW 2 605 60T A G6UTMTSLOMTET &60)6VHETLD/CLNEVGETLD eMLN&&ELILIGSR MG ?

A: Chorwad Beach
CFMieUs &L M&HEMT
B: Anjuna Beach
S|6OTEIC6OTIT &M & 60
C: Chowpathy Beach
QFETLG &L M5
D: Bogmalo Beach

LM&MGeIT &L M&emT

Name the Biosphere Reserve linking Indian and Srilankan Coast
@BHWIT MM WfEBIGT &L MH& T @) 66T @& 2 UNFCHMeTs &ITLILIS S S 60T (Biosphere Reserve) QLILIEMT &MILILI(H)

A Agastiyamalai Reserve
SGEVHW LDETIGL @) ([HLILY

B: Anaimalai Reserve
S4,60)60TLOENEV @) ([HLIL]

C: Nilagiries Reserve
Be&ifl @@Ly

D: Gulf of Mannar Reserve

LDGDTEOTITI 6UEDETES LT @ HLILY

Choose the right answer;

Tourist choice of mode of transport is affected by
(1) Distance and time factor

(2) Privacy

(3) comparative price of Services

(4) Economic Inflation.
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gflwmer aflemLenw Q5o Q&S

FMHMIGVIT LIWeoot] s erfletr CLIMEGaITSH S (Lnemm @ &60TTeV LITH&&LILIGI6US
1. &1y oo GBI &Tyevot]

2. Heoflemin

3. eflemev BFemeusserler el1LT(h

4. QUIMIHETMST Licuor 678810

A: land2

1 LDHMID 2
B: 2and3

2 10MHmID 3
C: land3

1 LnHMILD 3
D: 2and4

2 loMmILD 4

Choose the right match type :

Match the correct Abbreviation of Air Fare construction as per IATA Fare Constructions formula.
(1) FCP - Fare Construction Point

(2) NUC -New Unit of construction

(3) IROE - IATA Rate of Exchange

(4) HIP - Higher Intermediate Permit.

FiflwmeTr QUITHSS5 568 56 Q&S

ANLDTeor &L L 6ooTS Hlement LD G 60T el ifleuma & (LD TATA Bl MI6U6TES S 60T 6Nl meoT &1L 60T @SS T 319 LiLienLuiley
BloeuIuC L gl.

1. FCP - &L L6uoT &L_(H\LomeoT Ly6iTer]

2.NUC - USH W &L (H\LDIT60T 2{6V&

3. IRDE - IATA Blmiaueor Lflinmmm & &Ln

4. HIP - 2 W @ e0L Bleney SieilnG)

A: land2

1 LDHMILD 2
B: land3

1 LDMHMILD 3
C: 2and4

2 InMHMILD 4
D: 2and3

2 LoMmmiLd 3

Match the following:

Match the airlines with their country of origin.
(1) Delta Airlines (a) Australia
(2) Quantas Airways  (b) Kenya

(3) Eagle Airways e) Indonesia

(4) Garuda Aines  (d)  America
SstTeu(meussTsumenmU ClUM(H5S5)5.

aflomesT BleneufiSensTILD 45 CHMeTmIWw BTl igenesin

Qumms 515

(1) Glsom eflorer Himeussrd (q) eV Gredlwr

(2) (GeumstETLmeN efllomest (b) GaeTwm
HimyeuesTid

(3) F&60 eflwmenr HlmieussTid (c) @nHésrmGaradlwm
(4) S@LTellorer Blpeuetd  (d) ACLASST

A: (1)-(d), (2)-(a), 3)-(b), (4)-(c)
(1-(d), 2)-(a), 3)-(b), (H-(c)
B (D-(b), (2)-(c), 3)-(a), (4)-(d)
(D-(b), (2)-(0), (3)-(a), (4)-(d)
C: (1)), )(c), 3)-(d), (9)-(b)
(1-@), (2)-(c), 3)-(d), (4)-(b)
D: (D-(0), @)-(a), (3)-(d), (4)-(b)
(1-(©), (2)-(a), (3)(d), (4)-(b)
Arrange in chronological order

(1)Modern bicycles invented
(2) Compass invented in China
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(3) Built steam powered railway locomotive.

(4) Launch of hot Air ballons.

&mev auflenaliLlg alflensF LB S S5,

1. befeor enF &SR 6T Hevor(HLIIg.LIL|

2. Geormelev HeooTQLNG&ELILL L HenFHaHTL I

3. &l LUl Leor. Brmell @uwikiGld FulléuGel eTedTel6iTa 6T (BUTESIT QILDITL 19 6)8561T)
4. G LITEOT SMTHMI LISYTETS6m6T S MIN&LILIG S S560

A: 2,413
2,4,1,3
B: 1,2,3,4
1,2,3,4
C: 2,1,4,3
2,1,4,3
D: 2,3,4,1
2,3,4,1

Choose the wrong match type :

‘Which of the following is wrongly paired ?

(1) CTC-Certified Travel Counsellor

(2) ITC-Inclusive Tour Commission

(3) ETC-European Travel Commission

(4) OTC-Online Tour Charter

SEUMITEOT @) 6M6toTem L CHT6Y Q& IS,

6Tem 6 G5 LD &85 600TL6UM MIET &6 MITEUT @) 606007 WM& LD.

1. CTC - gmesTmefl&as UL L & HmiLILIWLI6TT 21,C6VTF 606 6ULOMIE LT
2.1TC - 2_aTemL&H W &HmIeuT &LAl6g6or

3. ETC - 2GrmLw &moiliLiuleoor &Llleqeor

4. OTC - @ &m6vorW 6uLL (24,60TE06V60T) & HMIGVIT &FMTFETLD

A: land2

1 LDHMILD 2
B: land3

1 LDHMILD 3
C: 2and3

2 oMM 3
D: 2and4

2 loMmmILD 4

Choose the right answer :

Which of the following is NOT an Airport in London ?

gflwmer aflemLenwl G5 T6a| QFUIS

L9 60762 (IH 611 606U (D MU 61T 6T 6V6TIT L6016V 2_6iTerm elL0ImesT BlemeuLLILD 2|6V6V ?
giflwmer aflenLenl CHi6 Q&FUIs%.

L9\ 60760 (1H 611 60T6U (D M1 6T 6V6T0T 601160 2_6iTerT el LD MenT Blemevuld 3j6v6v ?

A': Heathrow
afsGrT
B: Gatwick
(: T3
C: Orly
2617 G6V
D: Stansted
6L ITETENVGIL L

Which of the following is incorrectly paired ?

(1) China -Maglev Train

(2) Japan -Bullet Train

(3) Germany -TGV

(4) France -TGV

L9\ 60760 ([H 611 60T6U (D MU 6T 6TEMEU FHEUMITE &) 6M600TE & LILIL (D 6T ?
1. Eeorim - Gn&edleu uilev

2. gL ILmedT - Ljeveul. Fufleb

3. QgFnenf] - TGV

4. ymesrerv - TGV

A: land2
1 LnMHMILD 2
B: 2and3

2 LoMmmiLd 3
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C: 3only
3wl G
D: 4only
4 0L (D

Choose the right answer:
India's oldest metro is from :

gflwmer aflemLenwl G556y QFUIS

@QBGHwWmeiler Wg LI WTeT QLGN Q&ML RIS WS —60.
A: Delhi
QL6ved
B: Kolkata
QHMVEHSSHT
C: Mumbai
(WLemL
D: Chennai
Q& 60TE™ 60T

Which of the following Fare construction abbreviations are wrongly expanded

(1) MPM-Maximum Permitted Mileage

(2) TPM- Total Permitted Mileage

(3)EMA - Excess Mileage Advance

(4) EMS- Excess Mileage Surcharge.

LNedTau(mLd 6T &L L6uor &L (HILOIMTET & (H& & MG 6T Haumns ellifleuL@ &S LUILIL B 6Tereor.
1. MPM - 9IS &ULF IlnH&&LILLL enlnCaue

2. TPM - QIDMHS HDINSSHSHLILL L emDCeve

3. EMA - S5 & L1LI1Q.WITeT emLDG6VER (LD 60T LIGuoT LD

4. EMS - 9158 DBV T (hFH6V &L L6oorin

A: land2

1 LDMHMILD 2
B: 2and3

2 oMM 3
C: land3

1 LnMmmib 3
D: 2and4

2 LDMMILD 4

Choose the right matches of the following terms.

(1) Feeder lines- Regular Scheduled airlines normally providing services from major cities.

(2) Elapsed Travel Time -Additional time spent travelling from one destination to another.

(3) Indemnifies- Protects against penalties incurred by one's actions, compensation for injury.

(4) Travel Voucher-An all purpose voucher issued by a tour operator to cover the prepaid elements of a package tour.

erau@®ld QFTH&HEH58HE FlWmeT QUTHSSBIG6T CHUa QFUIs

1. 2em” () &OLINGET - PER W 5SS 6T60(BH S CFm6IHMET aIPHIGLD alp&aInmeT S LIALLiLC L eflinmeor

5] 001611 60T 161 &5 61T

2. HLHS Liwenr GBI - R @ LSHNBHS nHAMTH @LSEHMES LI585 QFavalllss dabh 60 GBI

3. @ULTO\&6T - eeaufleT Q&FWEVSEHETTL gMLIHILD &600TL 60)60T&H EH 8@ 6T T MeoT LIMSISTLIL] LDMHMILD & TUSH M & meor
@uulfe

4. LIWemT 2 SHTaTSFELDH - @@ SHMIEVT gHUTLLTETIT UPBISLILLL Seners S CBMES FflWMeT 2 55 TalTSs
FL®), FHoIeTaile (6T Q&FeHE 8 n QL Fan MIGHET 2 6T6TL SR WIS

A: 1and 3 are correct

1 Lommib 3 Frflwmeren el
B: 2and 4 are correct

2 I0MHMID 4 FiflwimesTemal
C: 1and 2 are correct

1 oMb 2 Fiflwimesranel
D: 3 and 4 are correct

3 MM 4 Fiflwimeren ey

Match List-l with List Il

List | List Il
Visa Type Purpose
(A)  Visitor Visa 1] Leave a country
(B)  Transit Visa ()  Travel Pass
(C) Re-entry Permits ()  Making travel connection onward
(D)  Exit permits (IV) Returnto their country of domicile

Choose the comrect answer from the options given below:
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ulgwsv | g5 uligwev Il 2 Ler Qlunhsgs.

Ul iguwiso | ULiguisy Il
eSlEFIT euens Gprésn
(q) SUEBENSWTETT | UTFensuWITeT 65&T () @ bILenL aflL() GleuaflGw Clasuey
(b) Cun@Geursg eflem (i) UwemT SigISIEFL ()
(c] oM BIEMDEY SFIDSE6T (i) Lwes GemeworiiLsemen (psirGeormad)
2_(HEUTEEHS60
(d) GeuaflGumib oiguwdssr (iv) SieuiseT suflsEb BTy Slmou

giflwmen sflenLsmws £G Clanflaslul ({ster aflenLsaflsy @mha Caifley Clewes.

A (A)-(D), (B)-(ID), (C)-(IV), (D)-(IIT)
(@)-(®), (b)-(ii), (¢)-(iv), (d)-(iii)
B: (A)-(I). (B)-(ID), (C)-(ID), (D)-(IV)
(2)-(®), (b)-(i), (0)-(iid), (d)-(iv)
C: (A)-(), (B)-(IID), (C)-(1V), (D)-(I)
(a)-(ii), (b)-(iii), (c)-(iv), (d)-(D)
D: (A)-(ID, B)-AV), (O)-(), (D)-(IT)
(a)-(ii), (b)~(iv), ()-(1), (d)-(ii)
Choose the rules which a tourist should consider while travelling
(a) Wearing gold ornaments is prohibited
(b)Wearing diamond ornaments is prohibited
(c) Exporting rare Species of wild animals is prohibited

Trafficking of narcotic drugs is prohibited
Choose the correct options

FMHMIGLIT LIWLIGOT 86T &M MIEVIT QFLAIIDECLIMSI &Hal6T68 Caletoriq UImal&Hemer CHT6| QFUlsm.
(2) BBIG S LIT600T hIG 6T 36u0flaugl Henl QawliuLl L gl

(b) EMEUTT 2 LITEO0T RIS 6T 2{600fleUG HevL QF WL LS.

(c) AW auem & aueTalleLMEIG&HEMET gHMING QF IS Sl QFWIWLILILL I

(d) GUITEMS LOHHSISHEN6T Q&TevoT(H CFAIS HemL QF WWLILILL GI.

gflwmer aflemLenwl G5 6y Q&I

A: (a)and (d) only

(@) LOMID (d) LG
B: (c)and (d) only

(¢) nmMILD (d) L (HLD
C: (a)and (b) only

(2) HOID (b) LLEID
D: (a)only

(a) DL (H)LD

Iatch List-l with List 1l :

List | List Il
Taxes Party Leived on
(@)  Inland Air Travel Tax n Domestic Tickets
(b)  Foreign Travel Tax (i International flights
(c) Passenger Service fee  (lll)  Forfickets issued outside India passengers
(d) FPort taxes (IV])  Cruise lines

Choose the correct answer pairs from the given options :

uLigwsd | gg uliguisy Il 2 Letr GQluMmS 816,

ulwev | uCigwsb Il
surflasir aNGleEsuucLg)
{a) 2eTHrL() eflomresr Liwissr euifl (i) 26THILEH yaElsl Hissr
(b) @euafiBr{ uweser sufl (i) ETuGHE LLIERThIGET
(c) uwesfl Gaemeu suifl (i) @nbHwrellesr cleusfluilsy 2 sirem LwenfleEmheE
supisELUfin wEelal (laEhsE
(d) &Slenmips sufl (iv) SLUILE) LIWLIeTTT

sflwner eflenLenws &G Qanpsslul fHlstar sflenLsaflsh @ ba Coie) QFis.

Az (@)-(D), (b)-(ID), (0)-(IV), (d)-(IIT)
(@)-(1), (b)-(i), (¢)-(iv), (d)-(iii)
B (a)-(I), (b)-(1D), (c)-(ID), (d)-(IV)
(@)-(1), (b)-(i), (¢)-(iii), (d)-(iv)
C: (a)-(D), (b)-(1D), (c)-(IV), (d)-(I)
(@)-(ii), (b)-(iii), (c)-(iv), (d)-(D)
D (a)-(IID), (b)-(AV), (c)-(D), (d)-(IT)
(@)-(iii), (b)-(iv), (¢)-(D), (d)-(i)
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Given below are two statements

Statement (I): Tour brochures generally clarify the information related to travel

Statement (II):Customers should check for terms and conditions in tour brochures

In the light of the above statements, choose the most appropriate answer from the options given below:

@\ 76vor(h) FaMMIGH6T Q&HT(H &S LILIL (HeiTermeor.

Faml 1 : &HMIET LNT&THhIG6T QLITSIQIMS LILETD QGTLFLITET $856160&H6m6T Q5 6rflayllLI(h &S5 6T meot.

Faml 11 : 6UTLY & 6M&WTETI&HET NS (L6 M&ET MMILD BILIH S 60rHemeT S&MHmieT LIT&Hrmhisefley FflLmisss Geuesor(hLd
GG Q&ETH&ELILILBH6TET gammigefledBhsl W&a|bh QUTHSSLMeT allenLenwl ECLD Q&TH &&LILL(H6TeT
aflemL_s6rfledlBHS CHT6| QFUIS%.

A': Both Statement (I) and Statement (II) are correct
Famml 1 I0moiDd 11 Fflwmesten el

B : Both Statement (I) and Statement (II) are incorrect
FoMMI T LOMMILD IT S6UMITEOTENE

C: Statement (I) is correct but Statement (IT) is incorrect

Fammi 1 &1l 9L60TTeL Fn MM 11 Heumi

D : Statement (I) is incorrect but Statement (II) is correct
Fa MM 1 H6UM L60TT6VL FnMmi 11 &1f)

Choose the correct statements from the following about Retail travel Agency

(a) Arranges Virtual tours

(b) Provides Foreign exchanges

(c) Does not organize Special interest tours

(d) Prepares tour itineraries

(e) Arranges alternate Flights on cancellations

Choose the correct option from the options given below:

Flevevemm LiWeoor Bloialersengll Limnl LeTalmelsaimniley @abhHa! &FWITeT Ja Mg aeTsd G H6 S5 (h &S| D
(a) QLOWIBIST (Virtual) FHMIEVTEHSHENET gHLIMTH QO F UIFH60

(b) SIBEIW QF6VTeU6sol ML GULDMHIGH G560

()P WL 9L TaIMBIGET (Special interests) &M MIEVTHHENET JMHLITH Q&F UIWLIaN6L6m6v
(d) @UsH8 QFWWLILLL6|LeT oMM 6D meoT g 60 6T gFMHUTH Q& UIgESe60

FECY QBETHHSELILLLamalssefley @wmba Fiflwmer ellenlanisd CHIHOSH &5

A: (a)and (b) only

(@) LDOMID (b) L EID
B: (c)and (d) only
(¢) LnmMILD (d) L (HLD
C: (b)and (d) only
(b) HILD (d) LB
D: (d)and (e) only
(d) LoD DD (¢) LD
Travel Corporation of India was established in in India

@S WIT LIWIGHT 8510810 (Travel Coporation of India) 6T6& 2,600T(H @ HEH WITeilev Bloyeil il L &I

A: 1970
1970
B: 1971
1971
C: 1961
1961
D: 1969
1969

Match List-l with List Il

List 1 Listll
Type of Travel Agency Services Offered
(@) Full service Agency 1] GITS
(b) Commercial Agency )] Corporate Travellers
(c) Generalist Travel Agency ()  Leisure and Business travel
(d) Online Travel Agents (IV) e-retailers

Choose the correct answer from the options given below:
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uligwied - | g9 Ul gwieb - Il 2_Lebr Glumhs5)s.

uLligwew = |
Ut HimeuetTshleir susmes

(a) W GCeensu himieuesrid

(b) susmfila Himisusrid

(c) @umg uweser Himieuerid

(d) SYSOTEMEVSHT LILIGOT (LP&EUTEHET

(0
(i)
(i)
(iv)

uligwso = I
supEISLLGHID Gaemeussit

GITs

sTLuGrl usnflssT

spiley MM)LD susmflal LwemTD
wletT HFlsbsuemm el L SMETT WITET T&6T

#iflwmenr eflemLsnwis £G QamBlesiul bHlarar ailenLsaflsh Gmhe CoHIHelsH &S D

Az (@)-(D), (b)-(ID), (¢)-(II), (d)-(IV)
(a)-(1), (b)-(ii), (¢)-(iii), (d)-(iv)
B: (@)-(D), (b)-(I1D), (c)-(AV), (d)-(T)
(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
C: (-1, (b)-(AV), (c)-(D), (d)-(1D)
(a)-(iii), (b)~(iv), (¢)-(i), (d)-(ii)
D: (@)-(1V), (b)-(IID), (c)-(ID), (d)-(T)
(a)-(iv), (b)-(iii), (¢)-(ii), (d)-(i)
Which is NOT an example of Passport ?
6181 LIMeNVGLIMITL_LQ.60T 2_&TI600TLD |606V?

A': Minor Passport
Fomy - urevCUmTL
B: Alien's Passport
SBEWT LUmevGUITFL
C: Consular Passport
SM&HI& LmenuGUmiL
D : Normal Passport
FMSMFesor LIMenGUITTL

The electronic version of TIM is known as :
TIM-60T LAl 6oTeoTsml LIS 1L

A: eTIM
eTIM

B: elee TIM
elecTIM

C: Timatic web
Timaltic(L9.LDIT6VLY &) 6UEDIEV
D: Tim Web

Tim(L9.LD) 6U6m6V

Which of the following terminology refers to Protects against penalties incurred by one's actions, compensation for injury ?
UetreuBLd Qemmaefley 6T&l ebeaufledr Q&FWIGLS&ETTL LMD S LITTSEIS6T, SHTWSH MHE T @LLIfH&EnsE aTH Ims

UMSISTLLNS GM&ERMS?

A: Contingenecies
SN F VST
B: Indemnifies
@lifh QFURmE
C: Immigration
2 6TELIEWmMmLD
D: Emigration

Qauerfl@lg GuwmmLd

Match List | with List Il
List |
Hotel Department
(i) Housekeeping
(i) Food & Beverage service
(i) Front Office
(iv] Food Production

(a)
(b)
(c)
(d)

eTeoT PlWILILGID

List Il
Job Role
Concierge
Commis
Horticulturist
Busboys

Choose the correct answer from the options given below :




UL IQUI6 T -6 LILIQUI6V 1T - 2_L 63T QUIT[HSH S S:

Ul igwed I uLigwiev I

[ AEAN:Ta]0) GeusmeuliLimi(E
(i) STuienwLLesnf] (a) eurGeumy
(ii) 2_600T6Y LOMM)LD LIMET &6 Lisusf) (b) 2_swoTemeu Lfllorm U
(iii) (LP&LIL] SIEYIEUEVELD (c) BarLLesemev BILewoTi
(iv)  eoewrey 2 MUGH (d) uevumiien

A (D)-(d), (ii)-(a), ((iD)-(b), (iv)-(c)
(D-(d), (iD)-(a), (ii)-(b), (iv)-(c)
B (i)-(b), (iD)-(c), (iii)-(d), (iv)-(a)
(©)-(), (iD)-(c), (iii)-(d), (iv)-(a)
C: (D-(c), (iD)-(d), (iii)-(a), (iv)-(b)
(D-(c), (i)~(d), (iii)-(a), (iv)-(b)
D: (i)-(a), (i)-(c), (iii)-(b), (iv)-(d)
(D)-(@), (iD)-(c), ((iD)-(b), (iv)-(d)

Match List | with List [l

List 1 List I
Type of Hotel Example
(i) Roatel (a) Uddaipur Lake Palace
hotel
(i)  Business hotel (b) Cordellia
(iii) Floatel (c) Taj Mahal Hotel
(iv) Heritage /Palace Hotel (d) Palace on wheels

Choose the correct answer from the options given below :
LIL1QUI6D T -60T6mm LIL_IQUI6V IT - 2_L 60T QMBS SI5:

L lguisy I uLlguisv II
Gammi L 66T sUsm & B, | 2 HTTewTD
(i) GrmrLGLé6b (Roatel) (a) 2_siLT gifl wreflens Gamm L6
(ii) suetsfls af{Hig (b) GamrGLevedwm
(iii) i flensu CammiLey (c) srgawammey GammiLsy
(iv) urrouflw/ wreflenag CamnmiLed (d) Gusveiv yeir e

gflwmer eflenLenw &Gl QarhHlsasiul (Hsrer aflenLseflsy @mba Csifley QFs.

Az (i)-(a), (iD)-(d), (iiD)-(b), (iv)-(c)
(D)), (iD)-(d), (iii)-(b), (iv)-(c)
B (i)-(b), (iD-(c), (iii)-(a), (iv)-(d)
(©-(b), (ii)-(e), (iii)-(a), (iv)-(d)
C: (-, (i)-(a), (iiD)-(b), (iv)-(c)
(D)~(d), (iD)-(a), (iii)-(b), (iv)-(c)
D (i)-(d), (i)-(c), (iii)-(b), (iv)-(a)
(D-(d), (ii)-(e), (iii)-(b), (iv)-(a)
What types of options have the Adjacent Room ?
GTGOTEOT 616N & LLITTEOT QUFH G 6T 2 6voTem L 3lemmUilavieiTeng?

A: Two rooms beside each other across the corridor.

@)\(H D 6MMG6T 62(HEUHEHCHTIHEUT LIG>856UTL 196V
B: Two rooms, one serving as a living cum dining area and other with a double bed.

E\(H 2JMMEET, RETMI QM6 LOMMID FTLUTL (B UGS WM&, LoMmID HQMTETm @ Tl el LIH&Hens 6u&FH UL 60T
C: Two rooms with an interconnecting door, ideal for a family.

BB SADSHET, HOMEMET GM6TS G aIFS WHMID @& GG LLULLNES e el GHS THES JHDS!

D: Two rooms beside each other.

RBHAIBEQETHAT AHHES @ T6H S eDMEET
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Match List — | with List =1 :

List =1 List =1l
Role Responsibility
(a)  Banquet Manager (i) over-all in-Charge
(b) Banquet Supervisor (i) co-ordinates the resources for functions
(c) Banquet chef (iif) bringade of cooks and kitchen
(d) Cook (iv) prepare quantity and serve

Choose the correct answer from the options given below :

LI 1QUI6Y I -60T6mM LIL LG UIEV IT - 2 L 63T QUITHESISH:

Ul 1guIgy | Ul iguigy Il
[T Qumrmid
a) aflmha Gusurery (i) @remarHgI0 Aummiliy
b) aflimh gl GohurfemawTeTy (if) @ FweoLT (R & (ETh & EMeT eueTTRISEmaT
&R (e Elem swoT LILIF)
c) all(BHE 56060 EFen WM ETTT (iii) FemwwhETTFsEeT Wiflay whHob
FenLwsvanm
d) FeMOW MSTTT (iv) spemeumis gwirflgg uiflommsso

Fflwresr eflenLenw SGp DlarRlasiul Hearer aflsaLseaflsy @mba GCarHosH.

Az (D-(d), (iD)-(c), (iii)-(b), (iv)-(a)
(D-(d), (ii)-(e), (iii)-(b), (iv)-(a)
B (i)-(a), (iD)-(b), (iii)-(c), (iv)-(d)
()-(a), (iD)-(b), (iii)-(c), (iv)-(d)
C: (@-(b), (i)-(a), (iiD)-(d), (iv)-(c)
®-(b), (ii)-(a), (iiD)-(d), (iv)-(c)
D (i)-(e), (ii)-(d), (iii)-(a), (iv)-(b)
()-(c), (iD)~(d), (iii)-(a), (iv)-(b)
Which one of the below outlet has a glass partition between the kitchen and the dining are a to showcase live cooking ?

FaDWEEME G FMLILTL(H eMEEGLD @)L GU (b &600TetorN T Ll LIGH enUs Q&M [HEHEGLD 21560 eLneulh GBITL
FODWIE6VE HTETEVMD. ABSLI LIGHuller Quiuwly?

A Speciality Restaurant
F LI 2_6oTal&H D

B: Rotisserie
eymliesil

C: Snack Bar
FHmieoorLg. LIL1q.

D: Dining Room

Frlium’_Lenm

Match List - | with List - 11 :

List - | List - Il
Meal Plan Inclusions
(a)  Modified American Flan (I  Room + Breakfast +
[MAP) Lunch + Dinner
(b)  American Plan (AP) (I}  Room + Breakfast
(c) European Plan (EP) (I} Room + Breakfast +
Lunch or Dinner
(d) Continental Plan (CP) (IV)  Room Only

Choose the correct answer from the options given below :
LI IQUI6D I -60T6mm LIL LG UIEV IT - 2 L 63T QUITHESISH:

UL g g | Ul lgugd 1l

D T, LD L1 &6 LiLiemel

(a) wrHoiule yClnfléssr Il (Mar) (1) Sienm + STensy o smrey + WHIW 2 ey

By = ewrey

(b) @1Qwifl&seir SILLLD (AP) (1) 4smm + &TEneL 2_swTaY

(o) mGrmidiw SliLib (EP) (1) &yewm + EMemsw 2 ey + WHIW 2 awray (21)
Gy = erey

(d) semTLrmsEeaT FILLD (P) (Iv) @1emm wi(hib

Fiflwmes eflenLenw Gsia G,
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Az (i)-(c), (iD)-(a), (iii)-(d), (iv)-(b)
(D)-(c), (iD)-(a), (iii)-(d), (iv)-(b)
B: (i)-(a), (i)-(c), (iii)-(b), (iv)-(d)
(1)-(a), (iD)-(c), (iii)~(b), (iv)-(d)
C: (D-(d), (ii)-(b), (iiD)~(a), (iv)-(c)
(D)~(d), (iD)-(b), (iiD)-(a), (iv)-(c)
D: (i)-(b), (ii)-(a), (iii)-(c), (iv)-(d)
(D)-(b), (iD)-(a), (iii)-(c), (iv)-(d)
Revenue from a seat not sold in a restaurant at a meal time, denotes which of the below characteristics of hospitality ?

2 Tl S 60T 2_6ourey CHISH 6L allMSELILLTSE b &) (H&Hn&HUNeNBHHS! euBLOMeTLD, 65 (HHESHMIDLIES 60T Ll6breu[HLD
LieooTL| & 6rfl6v 6185l eTetTLIeN S8 GMISGH Sl

A: Intangibility
2 (HEULDMM H6TEMLO
B : Perishability
Sifluibebnenio
C: Inflexibility
QB&H LpellarenLn
D : Heterogeneity

Gougium®

Bermuda Plan includes :
QUL HILL HH6L 2 6TeTL ISR BLILIGI

A': American-Style Breakfast along with room
QW88 LImeoll &Temev 2_600T6) LOMMILD 2{6emm
B: American-Style Breakfast along with Tour
QW68 LMol &Temney 2_6ooTa)| LDMHMILD &MHMIEVT
C: American-Style Breakfast along with Transfer
Q188 LImeoll &memev 2_6oore)| LoMHMID CeUQMITH LOMF& 8 LILIGuorLd
D: American-Style Breakfast along with Dinner.

2Qfl& 8 Limeunil &Temey 2_60Te) LOMHMILD )6 2_600T6)

Which of the below statements are true about room service ?

(i) Room service orders generated must justify the cost of having the room service at the hotel.

(ii) The challenge for a hotel is to keep food hot at the time of service. As food is transported from the main kitchen, food can get cold.
(iii) Room service menus are limited.

(iv) Room service food & beverage is relatively cheaper because the guest is going to consume in the room.

Choose the correct answer from the options given below :

LNeTaumld Fommiserfley 6Ts oemm GFenal Limm) 2 evoremLn?

(i) GamTL_Le8l6v oemm CFemel UFH @) (BHLILISMHSHTET G Favenel BIWMWLILG SS Ceuesor(hLD.

(i) R CaMTLL&HEG QU Falmey, 2_6mTenel @ L8 e06USH([BLILISI, FQETETMITV 2_6uTen el Fenlnllevemmuiled ®h Sl
Q&MeT(h QFuaIh CUMS, 918 GeflFFRWTReN(H LD.

(iii) 9j60M CFeM6U QLDERIGHGET GH6MNMEUTHG6U D_6TEIT60T.

(iv) jenm CFemal 2_euore) DMMILD Limerid LIS Lemaflev nedSleumeremel, @ eorenflev ellbHE 6ot =jemmuiley
2 L Q&TaTaTLIGLIMTaIST6L.

Frflwmer aflemLenwisd CHFe| QlFul.

A (i), (ii), (iv) only

(i), (ii), (iv) LL (LD
B: (i), (ii), (iii) only

(i), (i), (iii) LOL(HILD
C: (ii), (iii), (iv) only

(i), (iii), (iv) LOL_(PILD
D: (i), (iii), (iv) only

(i), (iii), (iv) LOL(BILD

Arrange the following stages in Tourism Marketing strategy in the ascending order
(a) Define marketing objectives

(b) Monitor progress

(c) Segment the customers

(d) Set strategic aims

(e) Define the mission

Choose the correct answer from the options given below

LNeTeu®Ld &mHmievT FhenSLiLBH S S0 2 5T Hener gmialflenguiley euflensliLG S515.
a) FHenG LGS SIS 60 GIbITE: MG 606 66T U MIGHSH

b) (P ETCETMHM 60 S 55600155 600118 &6 LD

¢) BIsFGeuTy Lifleysser
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d) eLpev 2 55 GIbITE: &b 86T
¢) GBHMHHSHNS 6160 T WMIG 56D
L etteu B eusorelmmieT Fiflwimer LIHemev G506 Q&S

A: ab,d,ec
a,b,d, e c
B: d,c,b,e,a
d,c,b,e,a
C: b,d,a,c,e
b,d,a,c,e
D: ed,c,ab
e,d,c,a,b

Choose the correct statements from the following:

(a) Branding depends on a place

(b) Pricing plays a role in branding

(¢) Brand image depends on customer discounts

(d) Image should be controlled by a clear projection of brand identity

(e) Brand serves to differentiate a destination from competing destination
Choose the correct answer from the options given below :

edreumeusoreummlev &Fiflwimer dammlemer Q&6 Q&g

(a) @LSB e QUTNISS HTSHEHTHDLD HMDRDS!

b)BTSCHTHMSE alleney G WHSW LIKIG aG&ESH DS

(OBISTEAITY S6TEBLIY &6Tle) FTSESTHMID SenEMS!

()BTSHCHTHMLD S6MLLITETSH 60T QG erflaumet &euofll1L&6mTev &L GLILMGSSLILL Caleur(®h

(e) BT CaMHM CFemau eTedTLIg CUTL QWG D @)L K& ®HS @evdams CaumuBsS mwiiL@LD.
gflwmer USemev Qe QFUIs.

A: (a)and (b) only
(@) LoODILD (b) LLEID
B: (c)and (d) only
(¢) LoD (d) L GHID
C: (b)and (d) only
(®) LHDID (d) LLGLD
D: (d)and (e) only
(d) LoHDILD () DL BID
Sales generated via references from third parties is referred as .

elaTmd Srlilerifler GmILILG&6T eneuld 2 (HaumsaLiLL L eflhuener @euaumm SinNwiLGRmEI.

A: Digital Marketing
@ VHSH MM FHen S LG S 6V
B: Direct Marketing
GBI FHeOSLILIHSSHE
C: Green Marketing
L&6emLD FHendLILIH &6
D : Affiliate Marketing
@SS LILL L FHheng LG &S 6V

Choose the correct explanation for the recommendations for improving service quality
(a) Reliability - Service priority

(b) Surprise - Surprise visit by the customers to the company

(c) Service design - Holistic view of service

(d) Recovery - Recover cost from the customer

CFemel HFIHMS 2 IWTHS CHemaulILG WD LN HSIMTULET ASNS SG&HS alleTshsHSHamear Qa6 QFuls.
a)FLOLIG GG 6TenLD - GFemel (LeiTenlflenin

b) @ F&flWLD-BlMI6I6TESH D& 6UMIY.8 60 & WTeTIE 66T BICT 6UHen s

¢) GFemal aulgauemLDLIL] - GFemeUUINGIT (LD (LDEMLOWITET LITTemel

d) 181 - eumig e s wimenjseflL bl (pb g QFevailensans 1L QL (B & SH60

A: aand c are correct

a LnMMILD ¢ FiflwimeTeme
B: dandb are correct

d mHmib b Fiflwimereme
C: band c are correct

b LMD ¢ FFlwimeTen el
D: candd are correct

¢ nMmILD d Fflwimerenel




Assertion (A): Brand image is the image as fiction
Reason (R): The image corresponds to an idea created in the consumer's mind, which differs from the actual image

SILTeTd (A) : STHCSHTMMLD 6T6dTLIS! &M LIETI60TU TeoT CHTHMELD
SITI6uoTLD (R) : BISTCAIMT LDTH6L 2 (HalMS&LILLL @ CSTMMLD, 2_esoremowlmer CHTMHMEH 60 BHEH CaumiLIL 1q [H&HGLD.
A Alistrue, R is false
BFLOTEOTD 2_600T6mLD, &ITFE00TLD &Ml
B: Both (A) and (R) are true; and (R) is the correct explanation of (A)
(A) LDHMILD (R) @) T60oT(HLD 2_600T6mLD, LOMMILD STTemord Q&TH&&SLILL L BFL0MersSH masmeor &ifluwimer eflerdaIn
C: Ristrue, Ais false
SITI6UOTLD 2600600, SITLOMETLD S M
D : Both A and R are true, but R is not the correct explanation of A

(A) LDMHMILD (R) @) T600T(H)LD 2_600T6mLO, BLETITEV STI6tord GFLMersH M & &Fiflwimer eflamd b @)6vemey

Mateh List = | with List = |l

List-1 List=11
Components Nature
(@) Product (i) Monetary Value
(b) Place (ii) Variety and assortment
(c) Price (iif) Distribution to the consumers
(d) Promotion (iv) Personal Selling

Choose the correct answer from the options given below :

uCiguwisd - | gg uligwist - 1l 2. Leir GQlummSE5)s.

ULigwso - | uLipwsd - I
o) SH6T Bwsoyy
(@)  swrfliy (i) uetoTsliiey Ly
(o) @Lb (i) wmmulL LHmID sumsUu b Hse
(c)  eflemsv (i)  meTCaummaE aNlHCwrED
(d) Gamfle 2 wisy (iv)  sefllul eNHuemen

Sesteu(meussreummie Fiflwirer LuSlensy Csifsy Claws.

Az (a)-(1), (b)-(id), (¢)-(iid), (d)-(iv)
(2)-(®), (b)-(i), (0)-(iid), (d)-(iv)
B (a)-(ii), (b)-(ii), (c)-(D), (d)-(iv)
(2)-(i1), (b)-(iii), (¢)-(1), (d)-(iv)
C: (@), (b)-(iv), ()-(i). (d)-(ii)
(a)-(ii), (b)~(iv), (c)-(1), (d)-(ii)
D (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(@)-(iv), (b)-(iii), ()=(ii), (d)-(D)
The expansion of TALC is :
TALC-607 efl fleung &1

A: Tourism of Adventure, Leisure and Congress
FI&F, @Ule] LDMHMID &HHMIEVT G&WLDLD
B: Tourism Area Leisure Component
FHMIT LGS @UI6| FoMIG6T
C: Tourism Area Life Cycle
SFHMIOT LGS eUTDEH S FHoTID
D: Tourism Advantage Leisure Component
FrMHMIGIT [HEITEMLD RUI6) T M1 6T
Identify the package tour that includes the service of a local operator who acts as the host to guests.
ST ell(BHEeTIEHEBHEG QSTGSLILTETITES QFWeLI(GID 2 6Teen UL 1quileT GFenealenll 2 6TeTL_&&H U QEHTGSLIL|
SOOI LWEr&Hens @)6ualmml Simlleuin.
A Escorted Tour
SI60600T FMMILI LILIGOTLD
B: Assisted Tour
2 gail &mHmILI LiuesorLd
C: Hosted Tour
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BLSH W FmHmILl LILEoTLD
D : Independent Tour
&l &MHMILI LIUI6DoTLD
Which of the following is the selection of one or more market segments to cater the needs of the tourists ?

L9 60762 ([H 621 60T6U (D MIGIT 6TSI SrMHMIEVIT LIWI6oof1 G660 CHemeauGHeneT LTSS Q&I 6TM 360608 HFME& CLMLUL L FHens
flasemner CaIHOSHILILIGRN 2 Fa|Hmal.

A: Segmentation
fleysar
B: Targeting
@ VE G M6USH6D
C: Positioning
BleneuILI(H &S5 60
D: Evaluation

WLHLILTEH

Arrange the following stages of a destination Life cycle
a. Development

b. Stagnation

c. Exploration

d. Decline

NeTaumLd @ evsRMETET aUMLDE S SmFUN6T BlemevseneT alflensFlIL(BSSa L.

a) (6OTGETMMLD

b) GH&HSHLID

¢) Splley

d) &#ifley

A: c,ab,d
c,a,b,d

B: a/b,c,d
a,b,c,d

C: ¢, dab
c,d,a,b

D: b,a,c,d
b,a,c,d

The most common method of estimating Tourist expenditure is ;
FHMIT QFevelermhigGemner G LILIH S D& Ter L& LD GILIMSI6UTET (LD6DM

A': Average visitor days or visitor nights x per day expenditure
Frnaifl UTFeneumeT 6T BHTL&6T () LIMTenelW meTIaeT E)J6lg 6T X [BIT6T 660TmIs &S
B: No. of visitor days or visitor nights x Travel expenditure
LIMTT6m 6l W MET & 6T [BITL_ 86T () LITFTen6eULITET 86T @) 76y 8 6r160T 6T600T60011 8608 X LILLIGT G\&F6V6Y
C: No. of visitor days or visitor nights x Average expenditure per day/ night.
LIMTemaWIMeTI& 6T BITL_G&6T (&) LITTenaUWITeTI 86T @) T6 86T BITeT @ J6 6Tmis@ X FFnaf] QFeae]
D : No. of visitor days or visitor nights x per day expenditure
LM FemeUWMeT 86T [HITLG6T (L) LITFene6UITeTT @) T6) 86T QF606| X [HT6T 660TmI& &

Assertion (A) : Tourism demand is strongly affected and limited by supply.
Reason (R) : If the supply aspects are not taken into consideration when using demand figures,planners must be led into the false assumption.

Famml (A) : HHMIVTE CHEM6 QNS LITH&HSELILL (), aIphigGeTe &L GLUGSSILGSRMS!.
&ITFeouTLd (R) : Ggemau Leerfl aflaurgensg i LweTLGSSINCLTS allBIGWITS IDFHIGET SHel6TeHH 60 Gl maTer L meiliqey
LG LUTSHET SeUMTET HDULTTSH TS @)L HF Q&FeveuliLIL Caueor(®Lh.

A: (A)is true but (R) is false
(&) &l spered (R) 6w
B: Both (A) & (R) are true and (R) is the correct explanation of (A)
(A) oI (R) &flwimerenel nmmild (A) el & (R) &iflwimer eflemg a1
C: (A)is false (R) is true.
(&) ey R) &ifl
D: Both (A) & (R) are true : but (R) is not the correct explanation of (A)
(A) & (R) flwimestemal & (R) Fiflwimeor ellengsin (A) el &

Given below are two statement

Statement I : Tourism is a massive & growing industry affecting millions of poor.

Statement II : Tourism has pro-poor growth advantages over other sectors in relation to poverty elimination.
Choose the correct answer from the options.
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@ TevoT(H) T HMIG6T HCL Q& T(H &S LILIL (HeTermeor

Faml 1 : &HMIEVT 6T6dTLIS L8660 ULIGIT & 600TE: 8 TE0T JemLp L0&E6M6T LIMTH &G WsLaUflw Inmmilh aleTihgl al@bLd

Qs mblevm@Ld

Fammi 11 : eumiemo eLAIL QFTLFUMS MM SlemmaeneT il &HmIVTaNl6) enLs:EH 8 E 2, T6UTET eUETIES) [H60T60 L0 6T
o _6iTeImeot.

giflwmer aflenLenl CHTHOSM) :

A: Both Statement [ & Statement II are correct
Fahmi 1 & 11 FiflWwmeTen 6y

B: Both Statement I & Statement II are incorrect.
Fa MM T & I HEUMTEOTEnE

C: Statement I is correct but Statement II is incorrect.
Faml 1 Fifl SLeTTeL oMM 11 Heum

D: Statement I is incorrect but Statement II is correct.
Fa MM 1 H6UM LE0TTEL FnMmI 11 &1f)

Which of the following is NOT the principles of sustainable Tourism.
LY 6dreu [ eueoteu M M6V 618! " l60I6VWLIMEOT &M MIEVTEN 6T Q& METEN&H WL 60T QBTLTL| @VeVTH S ?

A: Using Resources Sustainable.

QLG T HIGEN6T Blem6VLITET (PeMUI6L LIW6TLH &S5 60
B: Maintaining Bio-Diversity.

2 uNfluwe LT &S Setteninenwl LIFTLoKlg g6
C: Passenger Satisfaction

LIwleoofl g erfl 6T S (LIS
D : Integrating Tourism into Planning.

FHmieumemnel HILL AL 6916V 6 (I BIS) 60)600TS & 60

Arrange the following macro tourism policy composition in chronological order.

(1) Tourism vision

(2) Tourism objectives and constraints

(3) Tourism Phylosophy

(4) Macro management organization structure

Uetreumeustralmenm smeveuiflenaLiLilg GmipBlyey (Macro) & HMIEVT Q& TETeN&HUN6T L &S FoMiGHeneT auflengLiLbh & S!5.
1. &HMIET LUITFenel

2. &HHMIEVT GBITHSEHLD LDMMILD &6DL 6T

3. &HOHMIVT HHSI6UD

4. GO& G GLOGVITETOTEMLD 3{6emLDLIL]

A: 3,1,2,4
3,1,2,4
B: 3,1,4,2
3,1,4,2
C: 4,3,2,1
4,3,2,1
D: 2,1,3,4
2,1,3,4

Choose the right match among type.

(1) Maharashtra Tourism Development Corporation -MTDC(State Level)
(2) World Travel and Tourism Council (WTTC) - Private Sector

(3) Travel Agents Association of India (TAAI)-NGO

(4) Archeological Survey of India (ASI)- International Organization.

Flwmer QUMTBSS5e0S Sevor(h LG

(1) IDSTITEYIQT SMHMIGUT (PETCETMM &HLP&LD - MTDC (LDMBlev 3 6maileuiTenT))
(2) 2_6v85 LILLIGOOT LOMMILD SMHMIGVT &H6Y6aTFI60 (WTTC) - Seol WM &Slemm

(3) @ MBS LILIEOOT (LN&HEUFTSET FhIGLMN (TTAI) - NGO

(4) @BHW QBHTLQLITIHET QLU16] eDWILD (AS]) - FFaICHF FhIGID

A 1 and 3 are correct

1 LommID 3 FflwmeTen el
B: 1and?2 are correct

1 Hmib 2 Fiflwmeranel
C: 3and 4 are correct

3 MHMID 4 Fiflwimesreme
D: 2 and 3 are correct

2 nmmId 3 Fiflwimerem ey

Two parties exchange currencies for a certain length of time and agree to reverse the transaction at a later data is formed as.
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@ueor(® STLILNer®BD @M GMILILILL &MeusSH 60 BrerWmigGeneT LT Q&merSmTigser nmmih Lerer
uflalfssememenl IDMHMULININE S RLILIGQS&STETRMTIE6T

A: Future
THIG&MeVLD
B: Option
afl@LiLLD
C: Swap
uglmrhoid
D: Commission
571G
The ministry for Tourism presented in 1982.

(A) Tourism Structure
(B) Tourism Draft

(C) Tourism Policy

(D) Tourism Declaration

FMHMIGVIT SIMDFFSHLD 1982-1D 2,600T1q.60 —80 QILPBIG W SI

A

Tourism Structure
GMHMIGLIT SjemLnLIL]
Tourism Draft
GMHMIGVIT UEDIT6Y
Tourism Policy
SrHMIGVIT Q& TETEN S
Tourism Declaration

sHmievr nfleflliL

The value of all final goods and services produced in a country in one year is termed as

62(15 BITL_LQ 63T {60 60TH S CFMEUGHET LDMHMILD F T8 (& 86N 60T (IH 2,600TI9 M TET QDTS S LHUIL|

A

GDP

GDP

GNP

GNP

Total Travel Account

(D LILIETIT &600TE &
Balance of payment

&L L_600T @ (HLILY

Which one of the following tourism plan falls under formal roles of legislation in India ?

Nerau@mld &mmieums S L higer6r e1a @bH W mailey WenmulmeT FL L SH TS alBHma! ?

A:

Non Statutory Plan

FLLFHWmer SILLLD S6VeuTs L L LD
Statutory Plan

FLLIS wmer SL_LLD

Comprehensive tourism plan

aflifleurment &MHmieum HLL LD

Management and Construction Plan

GLOGVITETOTEMLO LOMMILD &L (HILOMEsTd HL_L LD

Match the following statistical tools with their objectives.

(a)
(b)
(<)
(d)

ANOVA (i) Difference among the mean
Factor Analysis (ii) Comparing Variance

Chi- Square (iii) More number of variables involved
Mean (iv)]  Measures of central tendency

Choose the correct answer from the opftions given below :

eTeoTLILI(BILD.
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ysireflwsy smaflsaner Sieubniler ComsskisEn L QUT(HS5) 5.

[a) ANOVA (3Gesmmeum) () srrEflsEnsmiw
allsEwmsn

(b) &myemfl ugUUTLsy (i) wrpumieL UGS

[e) & -smrb (s auiss (i) s

Gergene) erevoTensil&em suflevmenr

wmlssr

(d) Fgmedfl (iv) emwwi Curs
Siemeli(plasir

Az (@)-(i), (b)-(iid), (¢)-(ii), (d)-(iv)
(a)-(), (b)-(iii), (c)-(ii), (d)-(iv)
B (a)-(iii), (b)-(iv), (¢)-(D), (d)-(ii)
(a)-(iii), (b)~(iv), (¢)-(i), (d)-(ii)
C: (@-(iv), (b)-(iii), (¢)-(ii), (d)-(i)
(a)-(iv), (b)-(iii), (¢)-(ii), (d)-(i)
D: (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
(a)-(ii), (b)-(iv), (¢)-(iii), (d)-(i)
‘Which among the following is/are the threats to internal validity.
(i) Testing
(ii) Selection

(iii) Maturation

(iv) Consistency

LN edreumeueorau MMI6L 6T&I 2 6T QFGVSVILIG IIMEGLD &5 MISH0TE 2_6TemSl ?
(i) GF T 6™ 60T

(iHesHle) QFUIG6 / Ga 6]

(iii) LB TS

(iv) Blemev S & 6TemLn

A: (a)only
(i) LLGID

B: (a)and (b) only
(i) LoD ILD (i)

C: (a),(b)and (c)
(i), (if) DO QYLD (i)
D: (a), (b), (c)and (d)
(), (i), (iii) LLODLD (iv)

Arrange the steps of research planning in a sequential order

a. Identifying the objectives.

b. Reviewing relevant literature

c. Specifying the purpose of research

d. Developing a research plan

SLTMUFR S LIAL 6V LI &6m6T S&HMETeT FTmeur LI &eneT auflensliL( SS16.
(a) GMIHCHTETHEDIET 260 L_UITETLD & TG 60

(b) ASTLIL6ML I §)6VS&HR WBISen6T S LILMUIE] QF IS0

(¢) QTTUFRUNGT CHMTHEHSMBH GMILNGR M

(d) @@ WITUFR B LHG 2_(HeUTE S5 60

Az (a), (c), (b), (d)
(@), (), (b), (d)
B: (a),(c), (d), (b)
(a), (¢), (d), (b)
C: (o) (a), (b), (d)
(©), (a), (b), (d)
D: (c), (a), (d), (b)
(©), (a), (d), (b)

Arrange the steps of the linear model of the research process.
(a) Theory

(b) Hypotheses

(c) Operationalization

(d) Sampling

Choose the correct answer from the options given below:
SITLUEFR QFwawenmuier Grlwe L& Hluler Ly &aneT auflensliL® &6,
(a) G&HImLUM®

(b) &H(HSICSHT6T

(c) QEF WL MWITEHH6V

(d) B &6l LI (Wenm
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Az (a), (b), (c), (d)
(@), (b), (), (d)
B: (d). (¢), (a), (b)
(d). (0, (a), (b)
C: (), (@), (a),(d)
(©), (d), (a), (b)
D: (d), @), (¢), (b)
(d), (@), (¢), (b)

The Phenomenon of people dropping out of a survey is named as

R HeoT&H6 5B LN GBS D&G6T QeleflGUIMmILD Bl&Lpe] L&D

A: Sample exclusion
wrel allevs s
B: Sample mortality
nr& il @miiy
C: Grey sampling
FDhLIG TH I
D: Dropping
GECLp CUMLLILBeug / Saumail(HiS6v
Which among the following is/are dependency multivariate analytical technique(s)?
(A) Multiple Regression
(B) MANOVA

(C) Discriminant Analysis

(D) Factor Analysis

L9 65T 6u (5 61 60TEU D MU 6T 6Tem6u FITITL] LIGT(LN& LIGLILIMULIE] BIL LD S,@&LD
(Q)UIGT(NS 2 L 6TGUITE G

(b) MANOVA

(c)UMFUL&LomeT LIGLILMUIe)

(d) &myevoll LGLLITUIG

A: (a)and (b) only

(a) LDMHMILD (b) WO (HLD
B: (b)and (c) only

(b) LDODILD (¢) LD
C: (a),(b)and (c)

(a), (b) LDOGID (c)
D: (c),(a)and (b)

(©), (2) LOHALD (b)

‘Which among the following is NOT an Individual Depth Interview Method ?
B LD &> 86007 LU (HMIET 6Temed SeofllILIL L &BS ST GBS TENe0 (MMM &FTJHHE5 6060 ?

A Oral History
QUi audl auyeummi
B: Convergent Interviewing
62607 M 60 600T [5. &5 GIB [J G ITETOT6L
C: Thematic Interview
SBLIQUITHET GIHIJ & Teuorev
D: Sequential Interviewing

Q&L GIBIJ&sTeuoT6D

The mathematical expression of the average squared deviations from the mean is called as

grreflilempha srray 817 ellevseuserflar &enflg Qeaueflim@ 6T60T SEMP&HSELILGR M S

A Variance
[ ITEL Q)
B : Standard Deviation
FHL L eflevdsid
C: Kurtosis
GSTCLTHI6N( LML 2| 6eTemel)
D: Correlation

RLGHmey

Which among the following act as a bridges between the literature review and the methodology in research ?
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B LD 5> 56007 L_6U HMIET 6Temed @ 6v& & W G LILITUILE &G0 b, TTUFRUN6 enmEEGLD G L UN6UITeT LIMLLDMS
QFWOLLGRMS ?

A Research Problem

2, TMUEFR KTE&emeor
B: Research Gap

UTTLFR @enLQealer]
C: Research Hypothesis

UTTUFR &BSICHTET
D: Variables

Lomndl &5 6T

Name the type of survey which represents a particular population at a particular time.

@@ GMULILL CHI$H 6 @ GMUILILL In&&6T Qg Mg LITH BISSsalILGSSID Uie] aleng QUG

A: Census
LNEEHET QHMTNSH HeooTH6 & HILILY
B: Cross-sectional
GOSHGaL D CsTHM
C: Longitudinal
FenLBlemev
D : Retrospective-prospective
LNerGeorms & — (6T Geor e S
Which of the following is NOT an accounting convention ?
LY edreu [ eueoreu M6V 6T&I & 600TS SR LI6L LOMTHT([H {606V

A Convention of Conservatism
Sl mBrih

B: Convention of Materiality
QUTBETSVEUTS LOMBT(H

C: Convention of Mathematics
&Heooflg MBI

D: Convention of Full Disclosure

WwW QaueflliL® &6V LMBHTH

Given below are two statements:

Statement(I): In Zero-base budgeting reference is not made to previous level of spending

Statement(Il): Zero base budgeting examines a programme or activity from scratch. The manager proposing the activity should prove that the activity is
essential and his bedgeting request for funds is reasonable

In the light of the above statements, choose the most appropriate answer from the options given below :

FECLD @)\ FoMMIGET QHTH &G LILIL (B 66T :

Fammi1: Luoglw 9ig el ULQRL 1960, (g W lemallevmer Qaeellermgsar &mlliy Lumml Ml alsvensy
Fammi 11 : Ul olig lILenL UL Q8L (B BT 3606ugl QFWUMLeL SLTIDUGSL L GH e mHCS
SQLTTUSRMS.QF WML ML (WeTAWTAUD GeVTeTy, QFweuLIm(h & 6TMlWeDWITS S DMHMILD B &8 T e
ULQL Camiflgend BIWIMWLDTeTS! 6TedrLIens B(HLIG58 Caustor(®ILD.

BTN o HMIGENETS Q&MeuT(H), B &6 allenL_&erfley &L QUITHS ST aflemLenis CHT6a] Q&Fiss.

A: Both Statement (I) and Statement (II) are correct
G Hmi I LnHOILD Fa Do) [T @FeoTG D &1
B: Both Statement (I) and Statement (IT) are incorrect
Fa DI OO GO 1T GTeorhD Heum)
C: Statement (I) is correct but Statement (IT) is incorrect
Fammi 1 &1l SL60TTeL Fn MM 1 Heumi

D : Statement (I) is incorrect but Statement (II) is correct
FaMl | HEUMI SLETITV G MM 11 &Fif]

Accounting is defined as the :
& 6008 F L6V 6T60T QUENTWMIGSHLILGH S,

A': Process of recording and calssifying strategy
US| QFUIS6 InMmmID alen &L H &S 60 (LPenm
B: Provide necessary data to the country on record of financilal transactions
B8 ufleuissenergerfler LS a6 BT IQME C&H 606U T SFI6)86M6T QLIS 6D

C: Process of recording, classifying, Summarising, analysing and interpreting financial transactions
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B8 ufleissamneargerfler LH e, LGLIL, &@BHSEWD, UGLUTUI] DM aflelyemT Wenm

D : Provide necessary data to the police on record of financial transactions
BI& ufleuissemerssefler LGailley GgemeUW e &6 emelT &Teu60SI6m MU 60T([HE: & 6ULDHhIHe)

Assertion (A): Hybrid securities are more likely to be used by low growth firms
Reason (R): This is the least popular source of finance amongst corporate India

SILOTETLD (A) : HeVLIL| LIMSISTLIL &6 GenmbS aleTFFS BlmialerhisemTCauCW QU@BLUMeLD 2 LGWTR&GSILGSRMmS
SITFeOOTLD (R) : @) &I HIT6T US55 @ HH WITell 6T Genmbs LNFLIeuLDmesT BIG eLneuid Sy @&LD.
A: (A)is true, but (R) is false
(A) &1f] ST (R) Houm
B: (A)is false, but (R) is true
(A) B6UL SYETTE (R) &1f]
C: Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(A) LMD (R) FFlwimerenel 26T me (A) allH& (R) Fflwimer ellend &b 316060
D: Both (A) and (R) are true, and (R) is the correct explanation of (A)

(A) oI (R) &flwimerenel nmmild (A) ellh& (R) &iflwimeot eflemg L

Which of the following is incorrectly paired :

(a) FOM ()  Manage hotel's back office accounting system

(b) Guest Ledger (I}  Record changes to and payments from a hotel's
Registered guests

(c) City Ledger () Record charges to and payments from a hotel's non-
registered guests
(d) General ledger (IV) Secondary Ledger contains all of a hotel's accounts

Sletreu (heussTaummyen 618 Seumns Glenssrss il [lereng) ?

) FOM - Cammliieler Neir sigueuss
HevTa G (wenmeniul ekl s a0

) eSmbHlery CuBri - gﬁmnf_l_sﬁ‘ls&r udley Qewwiule
(T hEh\ 6T 6 (6T S B ITEUT &1 L 6UUT RIS 6T
LMD LETTLD Gl S
m  may GuGriH - GammlLedlenr uhley GlEWwwLLLTS
el b soTTHET|65T 5L L 6U0T MEEB6IT
LMD LIETITLD Cl&ay) 55560
) Qurgl Guy@® - GamnlLeSlsy isneurhg) &6t (g8 EhHD
SiLiudlw @remrLmod hlemew Cubr(h
A (I)and (II) are correct
[ LHmILD 11 &if]
B: (I) and (IIT) are correct
I moiLd 111 &ifl
C: (II) and (IT) are correct
11 Lo muLd 111 &)
D: (III) and (IV) are correct
I MHoud 1V &

Match the correct answers for the Personality stages :

(1) Erotic (a) Orderly

(2) Obsessive (b) dependent

(3) Narcissistic (c) Interdependent
(4) Detached (d) independent

24, EhenLD [hlensvsarfleSl(pbg) &iflwmer sflenLgenst GlLM(HSSIS.

(1) Smbmeruib (a) @uprusmesr
(2) Qeunlggenrd (b) &mjyeitem
(3] SpEHoLEHangey (c) oaTDCWNETD FTTHSS5

(4 QarLifsirenio (d) erFierenio

Az (D-(b), (2)-(c), 3)-(d), (4)-(a)
(2)-(D), (b)-(ID), (¢)-(ID), (d)-(TV)
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B: (D). (2)-(b), 3)-(a), (4)-(d)
(2)-(IV), (b)-(I1I), (c)-(1I), (d)-(1)
C: (D@, 2)(0), (3)-(a), (9)-(b)
()-(ID), (b)-(D), (c)-(AV), (d)-(TIT)
D: (1)-(b), (2)-(a). 3)-(d), (4)-(c)
(2)-(1D), (b)-(IV), ()-(D), (d)-(ID)
Which of the following is the source of the trial balance account ?
Ll 6dTeu (H 6w 60T6U M MI6IT 678! @) (HLILITULIGY 860078 G 60T eLNeULD 4 @&LD ?

A Passbook
QUBIR G GG LSS
B: Cashbook
Leoorl LSS &0
C: Ledger
CUGBT(®
D: Subsidiary book
ST LSS LD

Identify the external factors influencing selection of stimuli from the following :

Snesr(h S60leT G Temeal LITH & @& QelefliLm smiyeoflgener Lieraleleralmniled(®bs &evorbHLilg.

A: Intensity
Fallyid

B: Background
LNedTLeuLD

C: Personality
S5EHEMLD

D : Experience

IsILIGILD

Identify the person who coined the word 'boundary less organisation'.

GTELEMEULIMM SI6MLOLIL| 6TEOTM QUTTSHENG MU 2 (HaUM&HRIW HLIENT &Hevor(hLilg.

A: Mary Follet

Gl sLIMQ 6L

B: Herbert
QamFauIyL
C: Dooley
BGev

D: Jack Welch
VTS CleUeLEF
Choose the leadership style when the manager delegates the responsibility to an efficient sub-ordinate to take necessary action on his behalf :

& (H HMEMLOWITET HlemetoT F&MHlEEG, GLeumary QUTMILIeML RLUILINLSS SeUT FTTLTES G506l lLITeT HL I 5605
qH&HHF QF WD Henevenlngsialll Limsnflenw Qs Q&uls.

A': Autocratic
TCHFFHSMTLD

B: Participative
UmIG&HMmL]

C: Democratic
S60TIHITWLIGLD

D: Laissez faire

SemeuwilLmemin

Select the physical resource of a firm from the following :

LN edreumeusoraummleS (b & BlmIeeTSSH 6T @UMens aleTsH e CHIe Q&UlIs.

A: Employees
26r W& 6iT
B: Tax

eurfl




Tangible goods
& IT600T S &S GLIITIHL &6
Data

SUe




